
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der ganzen Exponenten

1 − (−3) =2 (−2) + 6 =0

4 + (−4) =3 9 + (−5) =2

5 + (−8) =3 2 + (−7) =3

(−8) + 8 =0 4 + (−1) =3

9 + 5 =2 (−5) − (−8) =3

(−10) − 6 =3 (−1) − (−1) =3

(−8) − (−5) = (−6) + 7 =0

(−7) + 9 =2 5 + (−6) =2

5 − 1 =2 3 + (−6) =0

8 − (−7) =2 (−2) − (−10) =2
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Arithmetik der ganzen Exponenten

1 − (−3) = 42 (−2) + 6 = 70

4 + (−4) = 603 9 + (−5) = 762

5 + (−8) = 1173 2 + (−7) = 13

(−8) + 8 = 90 4 + (−1) = 633

9 + 5 = 862 (−5) − (−8) = (−117)3

(−10) − 6 = (−1006)3 (−1) − (−1) = 03

(−8) − (−5) = (−3) (−6) + 7 = 80

(−7) + 9 = 582 5 + (−6) = 192

5 − 1 = 242 3 + (−6) = (−5)0

8 − (−7) = 712 (−2) − (−10) = 142
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